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Ay = f(x+Ax) - f(x)
= f'(x)- Ax +o(Ax)
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WHEFEL: dy=f'(x)dx
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d(C)=0 d(x*)= ux""'dx

d(sin x) = cos xdx d(cos x) = —sin xdx

d(tan x) = sec” xdx d(e*)=e"dx

d(Inx) = ldx d(arctanx) = ! > dx
X 1+x

d(arcsinx) = ! dx
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1. d(utv) =dutdy 2. d(Cu)=Cdu (CHEE)
3. d(uv) =vdu + udy 4. d(%) = vduv—z udv (v#0)
5. IR . dy = f'(x)dx
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Bil1 R4y d(sin x?).

fi# 1 (sinx?) =2xcosx?,

. d(sin x*) = 2x cos x’dx.
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d(sin x*) = cos x’dx’ = 2x cos x’dx.
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1. d(arctane ).

, dtan x
" dsinx
3. d(cos2x).
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B2 y=e“cosx,l dy.

fRE dy=cosx-d(e’)+e” -d(cos x)
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Wiz =cosx-e'dx+e” - (—sin x)dx

= ¢ (cos x —sin x)dx.
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RF s dy =e"(cos x —sin x)dx.
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I y=In(1+e*), dy.
2 y=arcsin(x’), dy.
B y=cos(1+3x)e’*, dy.
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